
Fitting Instructions: HON02 

Vehicle: HONDA ACCORD EURO SEDAN  06/2003 – 02/2008 

Towing Capacity: 1200kg 

Fitting Kit: 1x     2 slotted hole plate 

6x         M8 x 35 bolts, spring washers 

12x       M8 flat washers 

2x     M10 x 45 bolts, nuts, star & flat washers 

2x     M10 flat washers 

1x     D shackle 

2x Towbar Rating Labels 

1. Remove bumper. 

2. Remove & discard crash support panel. 

3. Mount towbar to rear of car using M8 x 35 bolts, flat & star washers (3 each side).  Centralise 
towbar on car & tighten all bolts. 

4. Feed 2 slotted hole plate through tie down hook under car aligning with slotted holes in towbar. 

5. Feed M10 x 45 bolts via flat washer, towbar, slotted hole plate & fit flat / star washers & nuts (2).  
Tighten all bolts. 

6. Check all bolts for tightness. 

7. Bumper cut required prior to refitting bumper.  Locate centre of bumper, cut 45mm each side of 
centre & 30mm up from edge of bumper. 

8. Apply Towbar Rating Labels to driver’s side door sill and non-removable part of the towbar. 

BTA Towbars
Australia’s Towing Equipment Specialist 


